rATLANTHy

PRI

Technical aids

7l
Chapter

Companion racks

Rack mounting

Rack assembly kit

ZF-2

ZF-3

ZF-4

1/2017

B{I: mm /Dimensions in mm

ZF-1



ERTER
& AILANTE oA

BERRFERER
Companion racks for straight tooth system

L+

|

|

|

|

|

|

|
TR B ek HH
Order code Module Pitch L, No of teeth b hy @
28 11 999 1 141,37 45 15 15 0,25
28 15 999 15 141,37 30 17 17 0,29
28 16 999 5 140,00 28 17 17 0,32
28 20 999 2 188,49 30 25 24 0,80
28 30 999 3 188,49 20 30 29 1,15
28 32 999 10 180,00 18 30 29 1,23
28 40 999 4 188,49 15 40 39 2,07
28 42 999 13,33 186,62 18 40 39 2,28
28 50 999 5 188,49 12 50 39 2,49
28 60 999 6 188,49 10 60 49 3,78
28 80 999 8 201,06 10 80 79 8,90
28 10 999 10 219,91 7 80 79 9,43
28 12 999 12 263,90 7 100 99 17,64
o RRR7ENFEEEH, » Teeth induction-hardened and ground,
- Ml C45. + material C45.
SR ERRESANEEE. Companion racks left-hand for right-hand racks.

FHAAFRER
Companion racks for helical tooth system

L _h
L 1

il

} o)

I
TTH KA EH W
Order code Module L, L, No of teeth b hy @
29 15 999 15 150,00 4,90 30 17 17 0,31
29 20 999 2 200,00 8,87 30 25 24 0,85
29 30 999 3 200,00 10,64 20 30 29 1,20
29 40999 4 200,00 14,19 15 40 39 2,18
2950 999 5 200,00 17,73 12 50 39 2,65
29 60 999 6 200,00 21,28 10 60 49 4,02
29 80 999 8 213,33 28,37 8 80 79 9,43
2910 999 10 233,33 28,37 7 80 79 10,03
2912 999 12 280,00 35,50 7 100 99 18,78
o« RERZE NIFEEH, « Teeth induction-hardened and ground,
o} C45. + material C45.
EEELRERNESAIEFES Companion racks left-hand for right-hand racks.

ZF-2 B{I: mm /Dimensions in mm 1/2017



rATLANTH,

WRTER S
Rack mounting

TR RS 1248 $H wE

Order code Screws Pin Rack

28.02.151 M5 x 20 D6 M6 x 24 ## /module 1,5/47.15.xxx
28.02.152 M6 x 20 D6 m6 x 28 % /module 1,5
28.02.202 M6 x 25 D6 m6 x 30 #& %4/ module 2

28.02.203 M8 x 25 D10 m6 x 36 %/ module 2/Strongline
28.02.302 M8 x 30 D8 m6 x 40 ##/ module 3

28.02.303 M10 x 35 D12 m6 x 45 1%/ module 3/Strongline
28.02.402 M8 x 40 D8 m6 x 50 H##/ module 4/xx.40.xxx
28.02.403 M14 x 45 D16 m 6 x 60 4/ module 4/Strongline
28.02.404 M12 x 45 D12 m6 x 55 1/ module 4/xx.42.XXX
28.02.502 M12 x 55 D12 m6 x 70 &%/ module 5

28.02.503 M16 x 55 D16 m6 x 70 # %/ module 5/Strongline
28.02.602 M16 x 65 D16 m6 x 80 %4/ module 6

28.02.802 M20 x 90 D20 m6 x 100 &%/ module 8

28.02.112 M30 x 110 D20 m6 x 120 %4/ module 10
28.02.122 M36 x 130 D20 m6 x 140 # %/ module 12

[RAEIN Content of bag:

8 BgHt + 2 B IfE 2 1 Kigs
242 DIN EN ISO 4762 12.9
EfIfE: DIN 7979 (ISO 8735-A)

8 Screws + 2 pinsZ 1 meter of rack
Screws: DIN EN ISO 4762 12.9
Pins: DIN 7979 (ISO 8735-A)

1/2017

B{I: mm /Dimensions in mm

ZF-3



rATLANTH, 2FELR

Assembly kit

——————
Deutsches Patent
Nr. 10 2006 008 461.6-52
TR ik B xR AYIE B. / Relative item no. @
Order code  Description Module #15 / helical H 15 / straight
29.01.001 %K% I H, &%& /Assembly kit, comprising: 1,5
1 x E# 3% & / Adjusting device 2.29.00.002 29.15.xxx
3 x #4E# / Gauging roller with magnet 1.29.00.032 39.15.xxx
1 x #zNE T4 %K / Measuring bridge with dial gauge 2.28.01.008 47.15.XxX
29.01.002 Z#FIH, 6% /Assembly kit, comprising: 2 29.20.XXx 28.20.XXX 0,40
1 x @#E 3 E / Adjusting device 2.29.00.002 38.21.xxx 33.21.xxx
3 x ®EE4% / Gauging roller with magnet 1.29.00.042 39.20.xxx 34.20.xxx
1 x #r: M EF 43 / Measuring bridge with dial gauge 2.28.01.008 47.20.XxX 49.29.xXx
29.01.003 %I H, &%& /Assembly kit, comprising: 3 29.30.XXX 28.30.Xxx 0,44
1 x FEZEE / Adjusting device 2.29.00.003 38.31.xxx 33.31.xxx
3 x #4142 1% / Gauging roller with magnet 1.29.00.050 39.30.xxx 34.30.xxx
1 x # = EF 43 / Measuring bridge with dial gauge 2.28.01.008 47.30.xxx 49.39.xxx
29.01.004 RIFXTH, @& /Assembly kit, comprising: 4 29.40.xxx 28.40.xxx 0,55
1 x @#E 3 E / Adjusting device 2.29.00.003 38.41.xxx 33.41.xxx
3 x B4 = 4% / Gauging roller with magnet 1.29.00.070 39.40.xxx 34.40.XXx
1 x #NE T4 % / Measuring bridge with dial gauge 2.28.01.008 47.40.xxX 49.49 .xxx
29.01.024 K% T H, && /Assembly kit, comprising: 4 29.42 XXX 28.42.XXX 0,55
1 x @E & / Adjusting device 2.29.00.005 29.XX.XX7 28.XX.XX7
3 x #4421 / Gauging roller with magnet 1.29.00.070 39.42.xxx 34.42.Xxx
1 x #F3XE F 43 / Measuring bridge with dial gauge 2.28.01.008 39.40.xx8 34.40.xx8
29.01.005 &FIEH, &&/Assembly kit, comprising: 5 29.50.xxx 28.50.xxx 0,8
1 x %3 & / Adjusting device 2.29.00.005 38.51.xxx 33.51.xxx
3 x ® M E % / Gauging roller with magnet 1.29.00.090 39.50.Xxx 34.50.Xxx
1 x #iNWEF 45K / Measuring bridge with dial gauge 2.28.01.015 47.50.xxx
29.01.006 R# T H, &%& /Assembly kit, comprising: 6 29.60.XXx 28.60.xxx 0,90
1 x FEEZE / Adjusting device 2.29.00.006 39.60.xxx 34.60.xxx
3 x #4421 / Gauging roller with magnet 1.29.00.100 47.60.XXx
1 x AN EF 4% / Measuring bridge with dial gauge 2.28.01.015
29.01.008 ZH#TH, B8/ Assembly kit, comprising: 8 29.80.xXX 1,35
1 x E# 3 & / Adjusting device 2.29.00.008 g 47.80.xxx
3 x ® M2+ / Gauging roller with magnet 1.29.00.140  helical
1 x X MWETF 4K / Measuring bridge with dial gauge 2.28.01.015
28.01.008 ZIFETH, G4 /Assembly kit, comprising: 8 28.80.XxX 1,15
1 x L E | Adjusting device 2.28.00.008 B
3 x B4MEE 1% | Gauging roller with magnet 1.29.00.140  straight
1 x #zViE F 4% / Measuring bridge with dial gauge 2.28.01.015
29.01.010 %K% T H, &%& /Assembly kit, comprising: 10 29.10.XXx 28.10.xxx 1,40
1 x FEZEE / Adjusting device 2.29.00.008 47.10.xxx
3 x ®E1% / Gauging roller with magnet 1.29.00.180
1 x #F M EF43F / Measuring bridge with dial gauge 2.28.01.015
29.01.012 &%FTEH, &8 /Assembly kit, comprising: 12 29.12.xxx 29.13.xxx 1,50
1 x L E / Adjusting device 2.29.00.008
3 x B4 =1% | Gauging roller with magnet 1.29.00.200
1 x #zVE F 4% / Measuring bridge with dial gauge 2.28.01.015

ZF -4 B{I: mm /Dimensions in mm 1/2017



['HT[HNTH1 StrongLine £ T E

Assembly kit for StrongLine

Deutsches Patent
Nr. 10 2006 008 461.6-52

iTHRES. ik LEES FAXT R A9 B. / Relative item no.
Order code  Description Module #1% / helical H1i5 / straight @
29.01.102 &R IEH, 6% /Assembly kit, comprising: 2 29.25.xxx 28.25.XXX 0,40
1 x 3 E / Adjusting device 2.29.00.102
3 x #4142 4% / Gauging roller with magnet 1.29.00.042
1 x #HMEF 4% / Measuring bridge with dial gauge 2.28.01.008
29.01.103 &R#FTH, B& /Assembly kit, comprising: 3 29.35.xxx 28.35.xxx 0,44
1 x E# 3% & / Adjusting device 2.29.00.103
3 x B2 1% / Gauging roller with magnet 1.29.00.050
1 x #H W EF 4 3F / Measuring bridge with dial gauge 2.28.01.008
29.01.104 %I H, &%& /Assembly kit, comprising: 4 29.45.xxx 28.45.XXX 0,55
1 x I E / Adjusting device 2.29.00.104
3 x 1 E# / Gauging roller with magnet 1.29.00.070
1 x XMW ETF 4% / Measuring bridge with dial gauge 2.28.01.008
29.01.105 R%¥TH, @&/ Assembly kit, comprising: 5 29.55.xxx 28.55.xxx 0,8
1 x L E | Adjusting device 2.29.00.105
3 x B2+ / Gauging roller with magnet 1.29.00.090
1 x XM EF 4 %K / Measuring bridge with dial gauge 2.28.01.015

1/2017 B{I: mm /Dimensions in mm ZF-5



rATLANTH,

wHEENEREBAER L

Gauging rollers with magnets to hold them in place in the teeth

oD

Deutsches Patent
Nr. 10 2006 008 461.6-52

1T KD, ik BH

Order code Description Module L | D ﬁ
1.29.00.042 3 x #1424 / 3 x gauging roller with magnet 2 28 20 4,2 2
1.29.00.050 3 x #4124 / 3 x gauging roller with magnet 3 33 25 5 5
1.29.00.070 3 x #1424 / 3 x gauging roller with magnet 4 40 30 7 15
1.29.00.090 3 x #4424 / 3 x gauging roller with magnet 5 42 34 9 20
1.29.00.100 3 x 1% E# / 3 x gauging roller with magnet 6 43 35 10 25
1.29.00.140 3 x #1424 / 3 x gauging roller with magnet 8 45 35 14 45
1.29.00.180 3 x B E# / 3 x gauging roller with magnet 10 42 35 18 75
1.29.00.200 3 x ®4TEE# / 3 x gauging roller with magnet 12 50 43 20 75
WAL 2 5 Material: Hardened steel.

737 Description:

BERENEREFOERMERA, MPHEL,

ANES EREMTFEERAEFXTIRA0, REFER

&

REFHOE,

BOREFATHRMALLE, BRHELEEE, NMH
BRENTR, THRLMEHILAL, NETW, K

Br Uil 2 F 49 & / Measuring bridge

oD

The gauging rollers (patent) are placed in the tooth gaps of
the already mounted rack, of the rack to be mounted, and in
the gap at the joint.

Adjust the measuring bridge on a measuring plate or other
level surface to zero. Mount the adjusting device.

By means of the measuring bridge and the adjusting device
it is now possible to adjust the optimal pitch by moving the
racks to be assembled. The pointer of the dial gauge should,
if possible, reach the pre-set zero value.

1T RS, Ei::po

Order code Description Modulde L b H D ﬁ
2.28.01.008 HRNETF 2 / Measuring bridge 80 20 115 58 310
2.28.01.015 Hr i EF 4% / Measuring bridge 150 20 120 58 420
ZF-6 B{I: mm /Dimensions in mm 1/2017



rATLAN T ERABEE

Rack Adjusting Device

1T A iR Sw EH XA B / Relative item no. @
Order code Description Module #1i5 / helical Hi5 / straight
2.29.00.002 HEEE/ 5 2 29.20.Xxx 28.20.xxx 0,12
Adjusting device 38.21.xxx 33.21.xxx
39.20.xxx 34.20.xXx
47.20.XXx
StrongLine
2.29.00.102 FEEE/ 5 2 29.25.xxx 28.25.xxx 0,12
Adjusting device
2.29.00.003 HREE/ 6 3+4 29.30.Xxx 28.30.xxx 0,14
Adjusting device 38.31.xxx 33.31.xxx
39.30.xXx 34.30.xxx
47.30.Xxx
29.40.xXXx 28.40.xXxx
38.41.xxx 33.41.xxx
39.40.xxx 34.40.xxx
47.40.XxXx
StrongLine
2.29.00.103 HEEE/ 6 3 29.35.xxx 28.35.xxx 0,14
Adjusting device
StrongLine
2.29.00.104 EEEE 6 4+5 29.45.xxx 28.45.xxx 0,03
Adjusting device 29.55.xxx 28.55.xxX
2.29.00.005 KR/ 10 5 29.50.xxx 28.50.XXX 0,3
Adjusting device 38.51.xxx 33.51.xxx
39.50.xxx 34.50.xxx
47.50.Xxx
2.29.00.006 HERE/ 14 6 29.60.xxx 28.60.xxx 0,44
Adjusting device 39.60.xxx 34.60.xxx
47.60.xXxx
2.29.00.008 HEEE/ 14 8-12 29.80.Xxx 28.10.xxx 0,82
Adjusting device 47.80.XxXX
29.10.xXx
47.10.Xxx
2.28.00.008 HEEE/ 14 8 28.80.xxx 0,46
Adjusting device Hik/straight
HRBEBERNEREMEALP, BIEEEE LHZE, By fitting the adjusting device (patent pending) in the
RS EMEBER, XA EEFHEL R EE 2] ERRAL pinholes of the toothed rack it is possible to move the rack to

B, WNMiZEERBHEL T, AZESTIRBERSR be assembled axially in both directions by turning the screw.
Lt BA#ARRIEEEEREMEFEHR. —HEIEL6, This permits to adjust the correct dimension over rollers and

IRFHERIR TS &L EER—EL the accurate pitch at the rack joint. The adjusting device is
held in place on the rack by means of magnetic force and

can be used in any mounting position. Up to module 6 the
wrench sizes correspond to the rack mounting screws.

1/2017 B{I: mm /Dimensions in mm ZF-7



&

rATLANTH,

WA SRR R SR AN L 47

Mounting and maintenance of rack and pinion drives

e

HE

AT RIBREREER P ERESRE
MKE, ESREFHFARTSF D
WPE, GNHMERERTERIE
F2ZMAPHEMEMRBRLE. F
FHESEA UERER T EAEER
ﬁ%iﬁ?ﬁ% (THRBESERXER
IR °

ATHRFEMCNEERE, NMREER
BRI EZRESI, RIVEFEEVEN
hin R E L AimRE LA R T 5RIT
L, AHERFEN12.9%5 KB, HE
W&, MFKEHOSKMESE, 2
EMITHHFL,

EEMRGH, HRAERHNETEL
RFFFIT. BAVEIWE R B &M1&
. BAREL TRERARR, G
ARENERFTESAHTEE, F5
RBRIBIFE,

g i

IEff

correct

IEff

correct

\ ey 1

‘ Companion rack for assembly ‘

HR4L
Thread

M5 M6 M8 M10 M12 M14 M16 M20 M30 M36

HiEHEE- 9 16 40 76 135 210 340 6602300 4100
moment Nm NmNm Nm Nm Nm Nm Nm Nm Nm
Tighten
torque

#HPBR / recomendation for backlash:

Q3: min. 0,010

Q5: min. 0,011

Q6: min. 0,027 (m=1,5-4)/ min.0,020 (m=5 - 6)
Q7: min. 0,037 (m=1,5—4) / min.0,028 (m=5 — 6)
Q8: min. 0,043 (xx.xx.xx8) / 0,080 (xx.xx.xx0)

Q9: min. 0,080

Q10: min. 0,080

Max: 0,05 x Modul 2—12 / module 2—-12
Max: 0,1 x Modul 1,5/ module 1,5

=
Hix Hix
wrong wrong

Mounting instructions

Racks

To make it possible to link our standard
racks to form any desired length, the
teeth are cut so that there is half a tooth
gap at each end of the rack. The op-
posite diagram shows how rack 1 and
rack 2 can be brought into the correct
pitch position. Fitting aids with teeth cut
in the opposite direction are available for
linking helical-tooth systems. See page
ZF-2. A better mounting result could be
reached with the help oft he Assembly
kit. Description see page ZF 10.

The mounting screws are to be tight-
ened to the torque of socket head cap
screws 12.9 using a torque wrench
and table. For the 0.5 m long racks it is
absolute necessary to use the pin holes.

Atrack and pinion drives, the pitch lines
of pinion and rack has to be parallel. To
check this matter, we recommend to
use blue mesh colour and to check the
bearing pattern under load conditions.
The backlash in between rack and pin-
ion has to be adjusted at the high point.
The backlash should be according to
the table.

EiR
wrong

ZF-8

B4 mm /Dimensions in mm

1/2017



rATLANTH, | EREREHEENTENER

Mounting and mamtenance of rack and pinion drives

WEAZEFREKERMEXR: Relation in between tooth thickness and roller ball
measurement;

HERMNEREAEZBEE A UBTRKMNEMITEL®R, EX  The tooth thickness of racks is usually measured via the

AEZENS, FNMRKEREESSEE, BEEEE  roller ball measurement as the tooth thickness could not be

[RUEEN measured directly. A measuring roller is put into the teeth and
measured to the back of the rack.

FRAEEAZR BT RHENENES ITEMNE. So tooth thickness tolerances could be measured by recalcu-
lating of the roller ball measurement.

BEEHERERIRER: Furter Information about racks under
http://www.atlantagmbh.de/en/products/racks-and-pinions/ http://www.atlantagmbh.de/en/products/racks-and-pinions/

0

! \ \
/ \ / \

Rollenman/

|
rollerball measurement
2

rollerball measurement tolerance

1 \ 1 \ Z
1/2 Zahndickentoleranz/ 1/2 Zahndickentoleranz/ \\ - 74
Zahndicke/ 1/2 tooth thickness toleranc 1/2 tooth thickness tolerance
tooth thickness
VARV I 1;; e 3 ::::.z'::"
| 1/2 Zahndickentoleranz/
1/2 tooth thickness tolerance
HEANE RHNENE E10 ZEmmAR
Tooth thickness Roller ball backlash radial way
tolerance measurement tolerance
0,01 0,014 0,01 0,014
0,02 0,027 0,02 0,027
0,03 0,041 0,03 0,041
0,04 0,055 0,04 0,055
0,05 0,069 0,05 0,069
0,06 0,082 0,06 0,082
0,07 0,096 0,07 0,096
0,08 0,110 0,08 0,110
0,09 0,124 0,09 0,124
0,10 0,137 0,10 0,137
0,11 0,151 0,11 0,151

1/2017 B{I: mm /Dimensions in mm ZF-9



rATLANTH,

e -
P Description
0.06
bos ] BrERTHBERTAZ ~
Dimension-over-roller tolerances for pitches over P
the joint m 12 ,,w’”
0.04 — s
-
t“f

003

.
o
o
o

0.02

B EFHRTRE
Deviation dimension over rollers

5
WEHRIEESE % | Rack quality

A
e

THZEFRIREAIBERETAGIBENTEAANE,
HEFFREARE, RAEERE, BREBEEA.

BIFAREREEAFNEHHI L, ARRERAUNERS
HEME, AEAMATRE.

BRI NBMEFRE ZAES RPHEL A,

BRESAMIMERTSEENS, EtEHA
EEMAGEA. HRAF#AER, BREER
HEMRBIMESEE. SEMPHEL S IUERIXEY
FEMERFT.

FERENZ AR SEMEE LASENHN
EFoREEELNETL, ERBHELTEA
VB R & RIER], ERERT RIFHIHHE
RENRKESETHELERMNENTL.

FltEEAENADTIBAEEREFRET. &
BT A B iR SRR IE MR (L B R FFTE IR AL
BEEEITRIBRE,

Atlanta toothed racks can be assembled to the correct pitch
by means of assembly aids. After positioning the racks for
assembly insert the fixing screws of the rack and slightly turn
them in by hand.

Arrange the rack adjusting device in the existing pinholes of the
racks. The device is held in position on the racks by magnetic
force. Any mounting position is possible.

The gauging rollers are inserted in the two adjacent
racks and in the gap at the joint. They, too, are
held in place in the tooth space by magnetic force
and can therefore be used in any mounting posi-
tion of the racks. It is thus ensured that they are
always accurately positioned on the tooth flanks.
The tooth gaps must be free from residues or any
other foreign matter.

With the measuring bridge set to zero on a measur-
ing plate or another level surface it is now possible
to measure the variation of the dimension over
the roller. The exact pitch at the joint can then be
adjusted by movingg the rack with utmost precision
in either direction. The sketch shows the excellent
toothing quality obtained based on the variation of
the dimension over rollers at the joint of the racks.

It is therefore no longer necessary to adjust the
rack by tapping with a hammer. The slightly pre-
stressed rack is put in the correct position and held
in this position until it is screwed together.

ZF-10

B{4I: mm /Dimensions in mm

1/2017



rATLANTH,

e -
P Description
0.06
bos ] BrERTHBERTAZ ~
Dimension-over-roller tolerances for pitches over P
the joint m 12 ,,w’”
0.04 — s
-
t“f

003

.
o
o
o

0.02

B EFHRTRE
Deviation dimension over rollers

5
WEHRIEESE % | Rack quality

A
e

THZEFRIREAIBERETAGIBENTEAANE,
HEFFREARE, RAEERE, BREBEEA.

BIFAREREEAFNEHHI L, ARRERAUNERS
HEME, AEAMATRE.

BRI NBMEFRE ZAES RPHEL A,

BRESAMIMERTSEENS, EtEHA
EEMAGEA. HRAF#AER, BREER
HEMRBIMESEE. SEMPHEL S IUERIXEY
FEMERFT.

FERENZ AR SEMEE LASENHN
EFoREEELNETL, ERBHELTEA
VB R & RIER], ERERT RIFHIHHE
RENRKESETHELERMNENTL.

FltEEAENADTIBAEEREFRET. &
BT A B iR SRR IE MR (L B R FFTE IR AL
BEEEITRIBRE,

Atlanta toothed racks can be assembled to the correct pitch
by means of assembly aids. After positioning the racks for
assembly insert the fixing screws of the rack and slightly turn
them in by hand.

Arrange the rack adjusting device in the existing pinholes of the
racks. The device is held in position on the racks by magnetic
force. Any mounting position is possible.

The gauging rollers are inserted in the two adjacent
racks and in the gap at the joint. They, too, are
held in place in the tooth space by magnetic force
and can therefore be used in any mounting posi-
tion of the racks. It is thus ensured that they are
always accurately positioned on the tooth flanks.
The tooth gaps must be free from residues or any
other foreign matter.

With the measuring bridge set to zero on a measur-
ing plate or another level surface it is now possible
to measure the variation of the dimension over
the roller. The exact pitch at the joint can then be
adjusted by movingg the rack with utmost precision
in either direction. The sketch shows the excellent
toothing quality obtained based on the variation of
the dimension over rollers at the joint of the racks.

It is therefore no longer necessary to adjust the
rack by tapping with a hammer. The slightly pre-
stressed rack is put in the correct position and held
in this position until it is screwed together.

ZF-10

B{4I: mm /Dimensions in mm

1/2017



@ RTLANTR,

ZF-12 B{I: mm /Dimensions in mm 1/2017



rATLANTH,

E A SR IR B AY SEEC AN 4E 4P
Mounting and maintenance of rack and pinion drives

REHH.

FEMTEE L AM: _
BRTSEMEIGEREGE (BImiah, 5%, 6% , BE
HEEBEERE, BREMaiEEHE. SERXIRHA.

—Xmx:
24.98.xxx/24.99 xxx R F i SHAEHF B E®EEN, AL
RIBEPERMI,

HANRHAI06/07/21/22F23 R FIRENERAEIL, BFF
BITII, ARIHRBEAERNT (F
HIRE, s87l, FraetE, &FA%) . ATRIEZ
RMLTEMERIEAE, FREZFERIE
E%R, *EZRILMELCE, EEMIIZH -
DAUAEIA, BFHENAERAETREE
MIR—RERMIAIHFREDNENEFE,

Schlagfrei zur Bohrung

Safety instructions

The following preventive measures are necessary:

Ensure there can be no contact with rotating parts (for example
output shaft, spur wheel, rack) and gearbox-bolts are tight.
Contact with lubricant must be avoided. Refer to data sheet.

Finishing

Gears serial no. 24.98.xxx/24.99.xxx are carburized and the
teeth induction hardened. Finishing according to customers
request is possible.

All soft spur gears of our off-the-shelf program
range with order code series 06/07/21/22 and 23
are prebored and thus can be finished by us or by
the customer to the required mounting dimensions
(turning of inside diameter, boring, keyseating,
hardening, etc.). In order to ensure proper func-

True to bore

FTIASAER RS R ETREMT, mAE.,

THRROTESRMELNE SR FrER .

tioning of the finished spur gears it is important

MMRSERSTE) 2ERENRLENCA5
W (#RRS: No.1.0503) ANIMAL. MEE
BHGEEER, XLETHRLIRARLE, SEA
KB R N (B KZI50HRC) . %R
UL R K FE I T, 7 KB & R B AL
BERMNERR, LAETHEINE.

RAFLEZIE@ENAIE

B

s

to consider not only the toothing quality but also
the concentricity in relation to the mounting bore.
This should be born in mind when choosing the
appropriate machining process. Since the outside
diameter of our standard gears is turned in one
operation true to the mounting bore and/or hobbed when cut-
ting the teeth, we recommend to proceed as shown on the
opposite sketch.
All standard spur gears with one-sided hub as well as certain
plate wheels (for material, see the dimension tables) are
manufactured from normalized heat treatable steel C45 (Ma-
terial No. 1.0503). If a higher strength is required, these drive
elements of C 45 can be quenched and tempered or option-
ally the teeth can be flame or induction hardened (approx. 50
HRC). Fitting surfaces should be finished only after induction-
hardening. Be sure to observe the relevant regulations when
flame-or induction-hardening our off-the-shelf standard gears.

Maximum bore diameter of the pinion on request.

1/2017

B{I: mm /Dimensions in mm

ZF-11



